Upphérads BK

Partavling 2021-11-04

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poéang % Namn MID Klubb

1 3 158 65.83  Birgitta Wilhelmsson - Andrzej Luczynski 17196 81105 Vanersborgs BS

2 7 138 57.50 Bengt Olsson - Bengt Karlsson 36127 36130 Upphéarads BK

3 9 127 52.92 Lennart Patriksson - Ingemar Eriksson 36129 11372 Upphérads BK

4 10 124 51.67 Christer Olofsson - Anki Olofsson 11368 1889 Upphérads BK

5 12 123 51.25 Bo Lindbergh - Jan-Ake Blixt - 7416 10061 Uddevalla BF - Vanersborgs BS

6 11 122 50.83  Eva-Britt Gustafsson - Margaretha Ostberg 59678 47383 Upphéarads BK

7 5 119 49.58 Ole J Jensen - Larsgunnar Andersson 26295 20573 Upphéarads BK - Vanersborgs BS

8 6 114 47.50 BengtR Olsson - Yngve Lang 36131 37193 Upphéarads BK

9 8 112 46.67 Lennart Ragnarsson - Elsa Persson 132 11278 Upphérads BK

10 4 103 42.92  Carina Halvorsen - UIf Halvorsen 91477 3452  Tjorns BK

11 1 100 41.67 Agne Ekstrom - Tore Johansson 41243 65422 Upphéarads BK

11 2 100 41.67 Irene Hjelte - Willy Vikingsson 67758 7669  Upphéarads BK
1 Nord Ingen 2 Ost NS 3 Syd OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

2 11 44 S= v] 420 6.0 40|10 5 3NV= +9 -400 100 00| 9 1 3NS= v5 400 0.0 0.0

4 3 44 S= v] 420 6.0 40| 2 11 44 0= a7 -420 70 3.0 8 6 2NN+1 &K 150 80 20

7 12 44 S= &5 420 6.0 40| 8 6 44 0= vQ -420 70 30| 4 3 INS+1 42 120 50 5.0

9 1 44 S-= vJ] 420 6.0 40| 9 1 3NV+1 7 -430 40 6.0[10 5 INS+1 43 120 50 5.0
10 5 44 S-= +8 420 6.0 40| 4 3 440+1 vJ -450 1.0 90| 2 11 INS= +9 90 1.0 9.0

8 6 3#aN+1 «4Q 130 0.0 100(| 7 12 44 O+1 &6 -450 1.0 90| 7 12 INS= *T 90 1.0 9.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

5 4 24 S-= 46 110 90 10| 3 11 3NN= 45 600 100 0.0| 3 11 2NV-2 v8 200 9.0 1.0

9 2 24 S= «A 110 90 10| 5 4 2NN= 45 120 80 20(10 6 340-2 43 200 9.0 1.0

1 7 INO= LY -90 6.0 40| 1 7 3a4V-2 «K 100 6.0 40 9 2 240-1 v5 100 6.0 4.0

3 11 24 S-1 *9 -100 40 60| 9 2 3aS-1 v2 -100 30 70| 8 12 24 O= &5 -110 40 6.0
10 6 3&V= vA -110 20 80|10 6 3vyN-1 49 -100 30 70| 5 4 INO+1 v7 -120 20 80

8 12 INV+2 45 -150 0.0 10.0| 8 12 4y N-2 45 -200 00 100| 1 7 4vy N-3 LN -150 0.0 10.0
7 Syd Alla 8 Vst Ingen 9 Nord OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

1 12 34 0= ¢ A -140 6.0 40| 2 8 6NO-1 +6 50 90 10|10 7 3s4V-1 vA 100 0.0 0.0

2 8 24 0+1 +A -140 6.0 40(11 4 4v V-1 &5 50 90 10| 9 3 3aS-1 4 A -50 80 20

9 3 340= ¢+ K -140 6.0 40| 1 12 44 V= &8 -420 6.0 40| 1 12 14V +2 &6 -140 40 6.0
10 7 340= ¢ A -140 6.0 40| 6 5 3NV+1 T -430 40 60 2 8 24V+l ¥3 -140 40 6.0
11 4 34 0= + K -140 60 40| 9 3 3NO+2 3 -460 1.0 90|11 4 1aV+2 &6 -140 40 6.0

6 5 24 O+2 ¢K -170 0.0 10.0|10 7 3NO+2 &7 -460 10 90| 6 5 1aV+5 3 -230 0.0 10.0
10 Ost Alla 11 Syd Ingen 12 vVast NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

3 1 464N= «K 130 90 10({10 8 3NV-1 *T 50 100 00| 3 1 1¢ N+1 K 90 0.0 0.0
12 2 3«N+1 &A 130 90 10| 3 1 24V= *T -110 80 20| 7 6 INO= +Q -90 80 20

7 6 34S= a2 110 6.0 40| 7 6 34V= &A -140 30 70|11 5 2vV= 43 -110 50 5.0

9 4 340= &K -140 40 60| 9 4 3aV= *T -140 30 70(12 2 2vV= vK -110 50 5.0
10 8 34 O+1 #A -170 1.0 90|11 5 3aV= &3 -140 30 70[10 8 2vV+l &6 -140 20 80
11 5 24 O+2 &K -170 1.0 9.0(12 2 24V+1l #2 -140 30 70| 9 4 INS-2 vJ] -200 0.0 10.0
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 6 1¢ O-3 &4 300 00 00| 1 10 34 N= vT 140 90 10| 1 10 3NO-2 v2 100 9.0 1.0

1 10 2y N+1 &A 140 70 30 9 5 34N= v5 140 90 10| 9 5 3NV-2 &5 100 9.0 1.0

4 2 1a S+2 ¢ 140 70 30| 4 2 4v V-1 &K 50 50 50| 4 2 1le V+1 48 -90 6.0 4.0

8 7 INN= &3 90 30 70(|11 6 4v V-1 +K 50 50 50| 8 7 24V= +8 -110 40 6.0
12 3 INN= *4 90 30 70| 8 7 34N-1 vT -50 20 80|11 6 24 V+l 46 -140 20 8.0

9 5 1v N= 4 A 80 0.0 10012 3 34 N-2 v5 -100 0.0 100|12 3 2NO+2 v4 -180 0.0 10.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

9 6 240-3 +J 300 00 00| 7 11 3NV-2 +3 100 100 00| 2 10 4v0O-2 T 100 80 20

7 11 24 O-2 +J 200 80 20| 5 3 3NV-1 +3 50 80 20| 9 6 4v0-2 T 100 80 20

5 3 INN+1 T 120 6.0 40 1 8 4v0O= a7 -420 30 70(|12 4 4v0O-2 T 100 80 20

2 10 3¢ N= v4 110 40 60| 2 10 4v0O= a7 -420 30 70( 5 3 3v0O-1 &T 50 40 6.0
12 4 2¢ N= v3 90 20 80| 9 6 4v V= s A -420 30 70| 7 11 2¢0O= &T -110 20 8.0

1 8 24S-1 *9 -50 0.0 10012 4 4v0O= a7 -420 30 70| 1 8 2¢v0+1 &6 -140 0.0 10.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 5 3NV= v2 -600 00 00| 9 7 3¢V-2 v2 200 100 00| 6 4 34 N+1 vJ 170 0.0 0.0

6 4 3NV+1 8 -630 80 20| 3 10 3y N+1 ¢A 170 6.0 40| 3 10 4v V-1 +Q 50 70 3.0

2 1 3NV+2 v2 -660 30 70| 6 4 3yN+1 ¢A 170 6.0 40(12 5 4v V-1 «Q 50 7.0 3.0

3 10 3NO+2 +v6 -660 30 70| 8 11 3v N+1 K 170 6.0 40| 9 7 34N-1 v] -100 40 6.0

8 11 3NV+2 v2 -660 30 70| 2 1 2¢V= 4 A -90 1.0 90| 2 1 3vV= *A -140 1.0 9.0

9 7 3NV+2 v8 -660 30 70|12 5 INO= vQ -90 1.0 90| 8 11 3v V= &A -140 1.0 9.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

3 2 3NO-1 +5 100 80 20| 7 5 4vyS= vT 620 100 00| 7 5 3NN+1 +4 430 0.0 0.0

6 12 24 V-1 +J 100 80 20| 3 2 4vyN-1 aJ -100 50 50| 3 2 3NN= v3 400 70 3.0

7 5 3NO-1 ¢T 100 80 20| 4 10 4vS-1 *T -100 50 50| 6 12 54 N= v4 400 70 3.0

1 11 INO+1 5 -120 30 70| 6 12 4vS-1 *T -100 50 50| 1 11 4&N-= a5 130 30 7.0

9 8 2NV= v5 -120 30 70| 9 8 4vS-1 *T -100 50 50| 9 8 3aN+1 &8 130 30 7.0
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4 10 3ANO+1 #A -630 0.0 100| 1 11 4vS-2 45 -200 0.0 10.0| 4 10 64DS-1 +¢2 -100 0.0 10.0
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